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Common Second Revision Test - 2025

Standard 11

MATHEMATICS
Time~AIIowed: 3.00 Hours - *Maximum Mar_ks:‘90
PART - A
Choose the best answer: L ‘ 20x1'=;2o
1) The number of relations oh a set containing 3 elements is _
a) 9 b) 81 c) 512 ~d)1024
2) If the function f : [-3, 3] — S defined by f(x) = x®is onto, then S is |
a)[-9,91 . bR C9[-3,3] - d)[0, 9]
3) The solution set of [x-1] > |x-8] is .
a)[0,21 . B)[Ze] - .6 (0,2) d) (-, 2)
h 4) The number of roots of (x+3)4+(x+5)4 =161is ‘
a) 4 . b) 2 | )3 d) 0
5) C05104+C05204+C0S3%+..........+C0s1790 = _
a) 0 b1 N d) 89
-1 =13 _
6) tan [ﬁ] =
93 . B3 0 ag O
7) Number of sides of a bolygon having 44 diagonals is
a4 “b) 4l b gy At d) 22
8) 1+3+5+7+..re. NS “
a) 101 b) 81 L e) 71 . d) 61
9) The remainder of 3815 is divisible by 13 is RPN '
a) 12 b) 1 €) 12, d) 5
10) The coefficient of x° in the serié§ e X is . |
a) —§~ b) % c) % : d) %

11) The image of the point (2, 3) in the line y = -x is
a)(-3,-2)  b)(-3,2) A (-2,-3)  ° d)(3,2)

-1
a) 0 ¥ b) 1 -1 Ay e

12) If A = [ A ..11] then for what value of &, A = 0? .

I

13) AB +BC+DA+CD =

a) AD b) CA ey d) - AD

Kindly-Send Me Your Questions & Answer Keys to us: padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net T | www.TrbTnpsc.com

Viim 5

14) If 'él = 13' ‘b,‘ =5 and 56 - 600 t'hen éxbl:

a) 15 by 35 c) 45 d) 25

X X

15) lim a-=b”

X300 X

b 3

a) log ab: b) log 3, ¢) log ¥ d) 3
16) limlx]=

a) 3 b) 4 ¢) infinity d) 0
17) 1ff(x) = x+2 then the value of f'(f(x)) at X = 4 s

a) 8 b) 1 c)4 d) 5

18) The number of points in R, m which the function f(x) = [x-1 |4 |x=3|+3mx is
not differentiable is
a) 3 b) 2 )1 T od)4

19) [cos2x dx =

Sin2x -sin2x
a) 2sin2x+C b) -2 sin2x+C c) > a0 d) 5 +C
- 20) If two events A and B are independent such that P(A) 0.35, P(AuB) = 0.6
then P(B) is
5 * o1 4 7
) 13 EEET | 913 4 13
Part-B
i) Answerany?7 questions only. j : o 7x2=14

if) Qn.No. 30 is compulsary.

21) Inthe set Z of integers, d'eﬁ'ne:r.an if m-n is divisible by 7. Prove that R is an
equivalence relation. '

22) Construct a quadratic equation W|th roots 7 and -3.
23) Find n if (n+2)P4 = 42xnP>.

n | ; nisl,2or3

24) Find first six elements of the series if a, = {
d-1+3-2+83 ; "n>3

-

25) Rewrite y3x +'y'+4 0 into normal form.

26) Find the area of the triangle whose vertlces are( -2, -3), (3 2) and (-1, -8).

27) Find the area of the parallelogram if two its ad}acent sides one
a=3(i+j+4k) and b—l—]+k

28) Flnd f(x) if f'(x) = 4x- -5 and f(2) = 1

29) An integer is chosen at random from the fnrst 100 posmve integers what is
the probablllty that the integer chosen is.a prime or multlple of 8?
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30) Find the . n _qn
po X
Sitive integer n if lim _.;:,.... =27
3 Answer an s Part - C
i) y? Questions only., | 7x3=21

i) Qn.No.40is compulsary
31) From the Curve y = | x|

draw (i) y = |x-1]+1 (i) y = |x+1]-1
(i) y = |X+21 -3 :

32) Resolve intg parti ' 3x+1
o lal fractions: —— -
A " (x=-2)(x+1)
show that (1+tanA) (1+tanB) =

34) If the letters of the word IITJEE are permuted in-all possible ways and the

strings thus formeg One arranged in the lexicographic order, find the rank of
the word IITIEE, :

35) Find 365 .
36)

33) IfA+B = 450,

The slope of one of the stranght lines ax2+2hxy+by? = 0 is twice that of the
. other show that'8h2 = g9ap.-

37) Prove that the points whose position vectors 2i +4J+3k 47 +J+9k,

107 - ] + 6k form a rlght angled triangle.

38) Evaluate (i) fa%e*dx (i) je"'°92e dx .

'39) If P(A) = 0.6, P(B) ='o.‘5, p(AmB) = 0.2 find (i) P(A/B) " (ii) P(Z/B)
(iii) P(A/ﬁ)v_.- ) i .

40) If y =tan'1[i~f—§), find y',

“.Part-D t
Answer all the questlons o 7x5=35
41) If f : R>R is defined by f(x) =: 2x 3 Prove that f is a buectlon and find its
~ inverse. : - (OR)
. sin® 1-cosé '
Prove that (i) g'jj})T-l (i lim —=—==0.
42) ‘Solve: X-z—)i-zz—;'z_%g ,Sq : (OR),

16 25 81_
Prove that log2 + 16'09—' * 12'°9 22" 7leags 2 1.

43) State and prove Naplers formula
, ~ (OR)

Ify = etan”x prove that (13" +(2x-1)y"' = 0. -
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44) Prove for all nz1, 32"2-8n-9 is divisible by 8.
(OR)
Evaluate: j‘-j?fl—s._ dx
X“ 4+4x+7

45) 1f x is so large, prove that {x* +6 -V’ +3 =~ approximately.

(OR)
Show that 9x2-24xy+16y?-12x+16y-12 = 0 is a pair of parallel straight lines
also find the distance between them.

46) Show that the medians of a triangle are concurrent.
(OR)
Show that the points with one position vectors 4i +5j+k, -j-k,

31 +9j+4k and - 4} + 4]+ 4k are coplanar.

(z+n? p° pz 2
47) Prove that |Al=| o® (r+p)Y - a° |=2par(p+q+r)°.
2 F (o)
(OR)
A problem in mathematics is given to three students whose chancé; if solve
tare L1 gl |
it are 3,7 and .

i) What is the probability that the problem is solved?
ii) What is the probability that exactly one of them will solve it?

- - -
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